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Eo By n Bo
28,000 10.0 4.00 1.500
350 x 350x 12x 19
= 171.9 o’
X = 2,280 cm y
X = 39,800 cm y
X = 15.2 cm y
= 0.35 m
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L. . = 2410 m
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By 0.542

776
13,600

8.89

0.415

0.542

C
C

c

3

m

m

m



B -
= Ko ( H )3/4
0.3
= 100 x — T x4 x 500 (—10'O )
0.3 0.3
= 481 (KN/m%)
Ky kN/m®
n
= 1
= Bo Bf n 4
Bo (m)
Bf m
KHO
KN/m®
1
Kio = a Eo
0.3
By m
By=10m
Eo
KN/m?
a
Eo a
EO kN/m?
4
4
N E,=2800N 1




Eo By n
500 10.0 1.00
4
= 242.5 cm’/m
= 2,270 cm’/m
= 38,600 cm*/m
a = 45%
= 1.00 m
= 2.0 x 10% KkN/m?
Ky = 481  kN/m’
1 h
B =
4
_ J 1.00 x 481
4 x 2.0 x 108 x 0.00038600 x 0.45
! . ! = 4.115 nm
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